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Contenance et surface.

RDC RDC RDC RDC RDC
BLOC - A | SURFACE | FACADES | BLOC - B | SURFACE | FACADE | BLOC - C | SURFACE | FACADE | BLOC- D | SURFACE | FACADE | BLOC-E | SURFACE | FACADE
A0.1 101.00 2 B0.1 | 133.00 2 Co0.1 110.00 2 DO0.1 133.00 2 EO.1 101.00 2
A0.2 64.00 1 B0.2 133.00 2 C0.2 97.00 1 DO0.2 133.00 2 E0.2 64.00 1
A0.3 101.00 2 C0.3 97.00 1 E0.3 | 101.00 2
Co.4 110.00 2
RDC RDC RDC RDC RDC
BLOC - A | SURFACE | FACADES | BLOC- B | SURFACE | FACADE | BLOC - C | SURFACE | FACADE | BLOC- D | SURFACE | FACADE | BLOC-E | SURFACE | FACADE
LCAO0.1 | 48.00 1 LCBO.1 | 48.00 1 LCCO.1 | 48.00 1 LCDO.1 | 48.00 1 LCEO.1 | 48.00 1
LCAO0.2 | 37.00 2 LCBO.2 | 41.00 2 LCC0.2 | 41.00 2 LCDO0.2 | 41.00 2 LCEO.2 | 41.00 2
LCA0.3 | 37.00 2 LCBO.3 | 41.00 2 LCC0.3 | 41.00 2 LCDO0.3 | 41.00 2 LCEO.3 | 41.00 2
LCAO0.4 | 48.00 1 LCB0.4 | 48.00 1 LCC0.4 | 48.00 1 LCDO0.4 | 48.00 1 LCE0.4 | 48.00 1
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Contenance et surface.

19ETAGE 19ETAGE 1°ETAGE 19ETAGE 19ETAGE

BLOC-A | SURFACE | FACADES | BLOC-B | SURFACE | FACADE | BLOC-C | SURFACE | FACADE | BLOC-D | SURFACE | FACADE | BLOC-E | SURFACE | FACADE
Al.l 60.00 2 B1.1 | 112.00 2 Ci.1 | 112.00 2 D1.1 | 112.00 2 El.1 105.00 2
Al.2 67.00 1 B1.2 110.00 1 C1.2 110.00 1 D1.2 110.00 1 E1.2 77.00 1
Al.3 | 103.00 2 B1.3 109.00 2 Ci3 109.00 2 D1.3 109.00 2 E1.3 | 108.00 2
Al4 | 104.00 2 B1.4 | 109.00 2 Ci.4 | 109.00 2 D1.4 | 109.00 2 El.4 | 107.00 2
Al.5 105.00 2 B1.5 110.00 1 C1.5 110.00 1 D1.5 110.00 1 E1.5 67.00 1
Al.6 77.00 1 B1.6 112.00 2 Cl.6 112.00 2 D1.6 112.00 2 E1.6 60.00 2

2°ETAGE 20ETAGE 20ETAGE 2° ETAGE 2° ETAGE

BLOC-A | SURFACE | FACADES | BLOC-B | SURFACE | FACADE | BLOC-C | SURFACE | FACADE | BLOC-D | SURFACE | FACADE | BLOC-E | SURFACE | FACADE
A2.1 60.00 2 B2.1 | 112.00 2 C2.1 |112.00 2 D2.1 | 112.00 2 E2.1 105.00 2
A2.2 67.00 1 B2.2 110.00 1 C2.2 110.00 1 D2.2 110.00 1 E2.2 77.00 1
A2.3 |103.00 2 B2.3 109.00 2 C2.3 109.00 2 D2.3 109.00 2 E2.3 | 108.00 2
A2.4 | 104.00 2 B2.4 | 109.00 2 C2.4 |109.00 2 D2.4 | 109.00 2 E2.4 | 107.00 2
A2.5 105.00 2 B2.5 110.00 1 C2.5 110.00 1 D2.5 110.00 1 E2.5 67.00 1
A2.6 77.00 1 B2.6 112.00 2 C2.6 112.00 2 D2.6 112.00 2 E2.6 60.00 2
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Contenance et surface.

30ETAGE 30ETAGE 30ETAGE 30ETAGE 30ETAGE

BLOC-A | SURFACE | FACADES | BLOC-B | SURFACE | FACADE | BLOC-C | SURFACE | FACADE | BLOC-D | SURFACE | FACADE | BLOC-E | SURFACE | FACADE
A3.1 | 60.00 2 B3.1 | 112.00 2 C3.1 |112.00 2 D3.1 | 112.00 2 E3.1 105.00 2
A3.2 | 67.00 1 B3.2 110.00 1 C3.2 110.00 1 D3.2 | 110.00 1 E3.2 77.00 1
A3.3 | 103.00 2 B3.3 109.00 2 C3.3 109.00 2 D3.3 | 109.00 2 E3.3 | 108.00 2
A3.4 | 104.00 2 B3.4 | 109.00 2 C3.4 |109.00 2 D3.4 | 109.00 2 E3.4 | 107.00 2
A3.5 | 105.00 2 B3.5 110.00 1 C3.5 110.00 1 D3.5 | 110.00 1 E3.5 67.00 1
A3.6 77.00 1 B3.6 112.00 2 C3.6 112.00 2 D3.6 | 112.00 2 E3.6 60.00 2

4°ETAGE 4%ETAGE 4%ETAGE 4° ETAGE 4° ETAGE

BLOC-A | SURFACE | FACADES | BLOC-B FACADE | BLOC-C | SURFACE | FACADE | BLOC-D | SURFACE | FACADE | BLOC-E | SURFACE | FACADE
A4.1 60.00 2 B4.1 | 112.00 2 C4.1 |112.00 2 D4.1 | 112.00 2 E4.1 105.00 2
A4.2 67.00 1 B4.2 110.00 1 C4.2 110.00 1 D4.2 | 110.00 1 E4.2 77.00 1
A4.3 | 103.00 2 B4.3 109.00 2 Cc4.3 109.00 2 D4.3 | 109.00 2 E4.3 | 108.00 2
A4.4 | 104.00 2 B4.4 | 109.00 2 C4.4 |109.00 2 D4.4 | 109.00 2 E4.4 | 107.00 2
A4.5 105.00 2 B4.5 110.00 1 C4.5 110.00 1 D4.5 | 110.00 1 E4.5 67.00 1
A4.6 77.00 1 B4.6 112.00 2 C4.6 112.00 2 D4.6 | 112.00 2 E4.6 60.00 2
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